


































































Q Review

Midterm this Thursday 42.21 9 950AM

Ex Find the vertical horizontal asymptotes
of fix txt
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PixQuick way of handling It Qin

Suppose Pix ax't
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Tey If degree I denominator degree numerator

y O is a Horizontal Asymptote

That should help us find V A H A

Lets recall the Intermediate idle Theorem
If f is continuous on a b for la b

Y is a value such that frat eye fib
or fra y fibs there exists c in a b

iton f 2 1 Since polynomials are
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Since f is continuous on I 2 1
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